FE(=3726.84

2462 64

FBy

SME=(23"%CA) + (49.19"*—FBy) + (30.75"*FBy) + (14.50"*—FD)=0
(237%3812.2#) + (49.19"%—2462.6#) + (30.75"%3249.1#) + (14.50"*—FD)=0

68226"# +(14.50"*—FD)= 0
—(14.50"*—FD) —(14.50"*—FD)

66455.1"# = (1450)"*(—FD)
(14.50") (1450”7

4583.1# = —FD

SFy=—FBy + (CA*COS 51°) + (FD*COS 3) + —FEx=0
—3249.1# + (3812.2#*COS 51') + (4583.1#*C0S 3') + —FE=0

3726.84 — FE4=0
—FEy —FEy

3726.8%# = —FEy

1
SF¥=—FBy + (CA*SIN 51°) + (FD*SIN 3) + FE,=0
2426.6# + (—3812.2#*SIN 51°) + (4583.1#*SIN 3') + —FE.=0

294# + —FE,=0
+FE, +FE,
296.2 = FE,



